EARAZROREIERT — 2 N—XBISY —F 20135FE6A23H (H) 1[@E&EE4H

el S % 3% RKEBEF BTl B ‘[fﬂi] ] ‘[%iﬂ%lﬂsﬁl] - | & &) 17000 &
[AE<%] 1 7% :4,600,000 § ~ 237 :1,800,000 3 3 7#&:1,200,000 4 4 7&:690,000 3 5 & :460,000 [
& | %E BESR N MHE B¥ (F8) #4L (B%) | BBIERL | F3F |SIEH | AR | BRE | BB FRE) / BE / £ERS
IR E i A o3| e 1:(4_7).5 1-1-2-2 | 38.3|87.3 | 2 | 500 Egi;_@i)
RN=YITA BivA—E-KTUZR e
N - BEECEVEDDR 2 8 | Balles 1(:14/72.;5 8-8-5-3 [38.1|86.4 | 7 tg? gﬁig ()
R:T7INHEY b BIAASF—T— iy
307l g | A1 ¥aInNyBHX # 3 Slf—g%vii (13418/22> 4-5-3-3 |38.8|81.3 | 1 (434) ix\igﬁ% (®ER)
8:Cape Cross BH:ANJLF—Jb Bk
=+ . —-7-0- al
al7lg| 7100y H o3 g{lénli 1(;;{15:)2 7-7-9-10 |38.3 | 81.1 | 8 (4:5:) %gg@ﬁg%i)
LFAILYLF— BFAILEYI1 T I LESRREES
==1=17 . _Q_0_ = 3
5 3| 2U—3-7 [B] #3 | Zmen (11.418/.;1) 8-8-9-7 |38.4|79.4 | 3 ig)z gﬁﬁgé Eiﬁ)
L ZXh=LR B3V TFEYT 752 R
Bl 7 | TAT1=—>F— # 3 R e N e e tg;‘ O Bl %757
N8y TELRIF— BTTFL—FIF— BT S
#A : -10-7- AR
718l10| 7V /3 b/ F— #3 | AEED (12418/29> 10-10-7-7 | 39.1| 75.4 | 5 (432) ¥;é¥§>
27Ty req K Bivy/a-—t FA AR
TR . IREIRE IS *?s/—
glgli| Avz—*#>%0 # 3 gg*gfﬁﬁé"r (11.4;5 11-11-11-10| 38.8 | 72.6 | 11 gf} %Efﬁ%éii)
LA LNT Ry R BEpLEt® Mx 8l
< —3H . _A—E_| g
9 4| =FrEARTF— [B] # 3 gg_ﬂg i (11.439/.5 3-4-5-5 |40.0| 71.1 | 4 (428) gjﬁ\;@%{g%%
R:TYAFRYF— BiZACEORY—F Bm &
. . SRHFE . £ 7
1055 #1>awr=s< [B] # 3 gé?giiﬁ 1(74?:;5 4-5-7-7 |89.7| 70.8 | 9 (4_822) E\E%i (ER)
SLANRY w4 =T BINANZF v — Bl e
» o | Fw~L [B] # 3 ff?;ig 1:(550>.3 2-2-3-5 |40.9| 65.5 | 10 | 460 Egﬂéé (=)
AL hF = BT7ITE1—T 1 e T7=Z—ElTr—L
® 71 L
£ 51.3-38.4

NAZZA LA |6.9-11.3-12.1-12.9-13.0-12.9-12.8-12.7-12.9

@ 11— —EBIRfL

12—+— (¥1,2)4(5,7,9)-8=(3,6)10-11
23—7— |1(2,7)4(5,9)-8-(3,6)10-11
30—7F— |7,1(2,9)(4,6) (5,10) (8,3)-11
40—4— (x7,1) (9,6) (2,4) (5,10,3) (8,11)
[ RN
BB 1 #M0M | | 74 K 1-6 720/ | | B = 1-6 1,790 | | =& 1-6-9 3,830
7B 1 150 1-9 310 | | B &= 1-6 2,730 | | 3EH 1-6-9 24,280
6 310 6-9 750H | | B 1-6 5,130M
9 150/

ABICOVWTRDTEEERROODE. TR LIV,



